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5K A g 56811 F A P2 BE e L EE Koy K R . s n
3 {8 [ R 4 A Ak Fit e - B AR PR - Ky RBE L B - RO R RE - Kok Btk e a2 b Z4 KoybE EsEHe
A £+ #=H JETA 2z 3 447 5L 6fiz (VA 8z
wanz| 728! 200m BIE #(3) 23.69 (-3.4) B FDH(3) 24.00 (-3.4)[=2H TEQ) 2419 (-1.3)|FHF H=F(3) 24.24 (-3.5)|48F FN(3) 24.24 (-35)|[#£8E FAGB) 2437 (-1L.7)[ED  F£EK(B) 2439 (-1.7)|Bx E((3)  24.47(-1.3)
K5 - KEF BIAF - BAH Ry - Bl K4 - TEMER T K5 - R/ e Ko - BEH ERE - Hiish K5 - BEH
67260 | 400m = R@G3) 54.82| 4l ##K(3) 55.44| EM EA(3) 55.87|=A ARk (2) 56.72(lBlE  K—(3) 57.91|%% #(3) 58.24|%&F3 1R(2) 59.14
AIAT - $AE K5 - TEHH RE - B B - E K5 - R/ K5 - BB Ko - EFh
612601 | s00m ERE EIEQ3) 2:04.18|@8 £ AQ) 2:05.01|FA FEEQR) 2:07.92| 8% HFQ) 2:10.07|F# EBX(2) 2:10.60(4 88 1EA(2) 2:12.41|i%8  #83(3) 2:18.52
K7+ REF FE - RMF LiEH - AT BIHKY - =B 2B AT BRER - HELE L KE - =ZEh
2128| 1500m T8 EL(3) 4:12.45|=8 BH(3) 4:13.99|m EAR) 4:17.73|% LA EK(Q) 4:1791|EFAR BEQ3) 4:19.74|FH RIK(3) 4:26.15|7@ E(2) 4:2859|2 8 18 A(2) 4:28.68
WE - K HHE - EEH Fik - TN LiEHE - BES Ko - BREF K% - TEHEH 2uEH - AT ERER - HELE
612601 3000m T8 EL(3) 9:12.14|E=8% B0 9:23.53|BAER 1222 (3) 9:29.55|FA HBE®R) 9:34.39|iE:2 #H#®@G3) 9:36.74|FM  RIK(@3) 9:41.13(kEF EXQ) 9:43.95|fF%  FHR(3) 9:47.21
RE - K HHE - EaFF LHEE - HHE Ry - EREH BIAF - BAE Ko - fEEREF K5 - ERH MFEE - MFEEd
A28 110mm A HAQB) 1622 (-1.5)|EE 2E(B) 1746 (-1.5)|[EA A#(2) 17.70 (-3.3)|mMeE BEUL(2) 19.16 (-1.5)|¥BHE FE{=(3) 19.65 (-3.3)[EFH Z£(3) 19.91 (-1.5)[lgl A—(3) 19.93 (-3.3)|FIE #KBk(2) 20.37 (-1.5)
K5 - KEH K5 - HEEH BUFF - BIATEE T K5 - KEH A5 - FHh K5 - HHh K4 3R/ T K4 - IR/
K5 - IR/ 44.66| K% - HEF 45.08| K% - REF 45.26(BIAT - AR R 45.46| K% - EEF 45.58| K% - KEF 45.80| k1A - fefar® 46.57 |2 - FEH 52.88
BB BAQ) NI #L@3) HH B13) BE EEG) AR HAG3) R W70 Bk HEQ) alg EKQ2)
7TH2H|4x100mR|1E  ZN(3) il FR(3) ZE FEQ3) Bt FQ) B E(3) ®’R  HX#HQ3) M EHQ) mi EAaQ2)
EH 250 hd FEXEG) Il AE®G3) T ZEAQ) #E BHEREQ) A HEKXK®A) A 183(2) B FR(2)
HH H+02) HE K=Q3) aH AK@G) BE BEAQ B EABB(3) A BUE(3) KHE  HEG3) K& JEKRQ2)
L e RB(Q) 1.65|%H ZE=Z() 1.50[ 8 Al1(2) 1.45|HIE  FEA(3) 1.45
6426 | Ak . N !
K5« K¥EH BIAT - dLEBR R R/ mF K5y - WEF
| K ®wm#H0) 2.00
6260 Hembk 118 - iaEE
Thon | iR ACKEB(3) 6.09 (+1.5) %l #HA(3) 6.06 (+1.4)|K5F IEBA(2) wb5.82 (+4.4)[#aL BE#H(2) 5.73 (+1.3)|HLE EES(B) wh.68 (+2.3)[FIE FE(=(3) wb.54 (+2.5)[B)Il £3H(3) wb.24 (+2.2)
AFF - Fius K7 - PWEF fefl - T BIRT - A BB AIFT - BB K5+ KEF HFEE - R
1826 | e EMR ZR@O) 12.59|%% =HEQ) 11.97))8 Bs(3) 10.46 (B  2#H(3) 9.53|FE  HE(2) 9.43|)Il E(2) 9.06|F A #A(1) 8.4T|AF #A(3) 8.41
%1l - HEF BT - BER AT K5 - REF F#F - AR LHAE - ZEF BIFF - Filh E1R - BEF Ko - BEH
venr| emoen| 100m BHE EAQ) 1159 (+2.0)|[t£8E (1) 1175 (+2.0)| KB A1) 1244 (+2.0)[F MREB(1) 1249 (+2.0)@% {-A#A(1) 12.76 (+2.0)|FHF FEH(1) 1278 (+2.0)|H KIE(QD) 1279 (+2.0|BE 1B(Q) 12.88 (+2.0)
AKF - BAR GR|Ax% - £+ Eh GR|X% - EARDH 21l - KRS K5 - ERDH K5 - BAEFA FE - R B &1f - Bas
21211 1500m BEE O EAR1) 4:4455|FF HE(Q) 4:48.65|75H  MPI(1) 4:49.30/NEER (1) 4:49.43|1LE  BEM() 4:49.50| 8k  £(1) 4:50.17|7F BFQ) 4:50.81| %  #HIR(1) 4:53.52
HH - =&+ 2%AF - =F+ K7+ KREF E%EH - BHET K5+ REHF - Ry B Ko - KEF K5 - FEHE
orn 7| 62608| 100m HEE OBESQ2) wilso (+29)|£H EH(2) wilss +29) @A AR(2) willss (+2.9)|#FA JTARQ) wil2.02 (+2.9)|EE  F(2) w12.08 (+2.9)|{EFE  135(2) wi12.15 (+2.9)|{REE RE¥E(2) wi215 (+2.9)|3kA HEEH(2) wi12.38 (+2.9)
B - #REF (S (S TEa s BT - RIAFEE Ko - BEH K7 - KREF K5 - BAEFA BIAT - BAR A 1R - KokEd
sen 7| 6a260| 100m EH EFB) wil2o +25) (2 Z1(3) wilze +25)|EE YHER) wilds +25)|Ei ZE(3) wll.57 (+2.5)|HF FE=L(3) wils9 (+2.5)|BA FIH(3) wile0 (+2.5)[flE #FHA(3) wiles (+2.5)[KH H3#E(3) wil.68 (+2.5)
Ko - R/ K9 - R/ TP K5 - REF K - BEH K5 - TEHEF BIAT - BAE A Ko - HEF 1E18 - EAamF

GR:REFiE: ZEN: 2 HEHERIEL w (wind assist) : IBEZ %
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A £+ #=H JETA 2z 3 447 5L 6fiz (VA 8z
saser| 7a28| 200m EE BUR(3) 26.25 (39N HAQR) 2715 (-20) /& FEQR) 2737 (-2.1)|AN KIE(3) 27.69 (-2.1)|RE EP(L) 27.82 (-2.1)[HZ HEB) 2817 (-3.9)|#HE #¥H&K(3) 2833 (-2.1)|HEF HEw(2) 28.73(-2.0)
K7« REF X5 - TEHEF 1E18 - {ERmEH K% - £B s Eh BIAT - BAR A BIRT - BBRAEF Ko - HEF TTH - AfEH
7a2a!| soom HHE 2%k 3) 2:15.13|@&mE E&HE3) 2:16.95|F3E  E¥(1) 2:23.10|EH mRAHO3) 2:26.72| IR BEHE(3) 2:26.87|E%  EmX(2) 2:27.09|(FBE F£EQ) 2:27.31| R #I%(3) 2:27.48
K% - fEHE S ZEN| K% - HEF K5 - fEHEF K7+ REH K- LBy R K4 - EADF BHKRE - =E+ BIAF - BIAFEE
67260 | 1500m HHE  2%k3) 4:43.42|1%IR  BRE(3) 4:52.09|F8E FE®Q) 4:53.31|F8 ZE(1) 4:55. 74| E6x(2) 5:00.50|4%H F|E(Q2) 5:01.35|MAK  #Z(3) 5:03.29| &% #I%E(3) 5:05.79
K% - fEHE Ko - PEF BIHKRY - =Eh Ko - fFEHF K5 - EAHDH BIHKY - =Fh HE - e BT - BIAFEE
A28 100mH BE FEQR) 1475(-23)|)118 EFQB) 16.00 (-2.3)|RE #HiE(3) 1673 (-2.2)|HE 2E(3)  17.64 (-2.3)|fEK |/EFQR) 18.19(-23)|== E((3) 1861 (-2.2)|MkF HIE(Q) 19.02 (-2.3)|ME HEHE(B) 19.53(-2.2)
K5 3R/ e ZEN|t&fa - #Tmmh K5 - 3R/ ek K5 - e+ HRiE - iR MFEE - RiLeh AR - BIAFEE T Ky - #El
K5+ KIEF 52.42|1%1A - teiam+ 53.25(BUKF - BUAFFE 53.59|fa7m - P 53.67| K% -+ K 54.23|F# - dbh 54.47| K%y - e 1:04.01
il #3k(1) H/E =2 A FeE() FE 21 &k 23H(1) A ZZAQ2) HZ 203
7TH2H|4x100mR|{EHE  FL5(3) NS FEE(3) EBE BRQ) BRIl BEQ) AR EH02) HER Erx(2) HEH #HERE3)
FIER & (2) Wl KkTe(1) il FE@Q3) R EZ((2) 2R #EXREA) T ER3) EA BFE3)
RAIER BETH(2) B E4TE(3) AHE EZ=(1) T B (3) Kk £55(2) Big HAE3) HE Uui(3)
R Z(3) 1450 %4 (3) 1.35/8kE  OEQR) 1.30|71E  EEFQ) 1.30|F8 0k%kEQ) 1.25
|k - TEEREE Ry - BT R4y - FEHEF BT - Filh Ko - WEF
TH28 | &k e
BHE LE®3) 1.25
Ry B
67260 | iEmk HER LEGR) 488 (+0.9)|IBKR FEO(3) wass (+2.5)|EHEE AE(Q) 4.68 (+1.2)|/\EF BEE(2) 4.61 (+1.1)|MIEE BEE(2) w455 (+2.D)|dbA FEQ) 448 (+1.8)|JIIT FAK(2) 4.45 (+1.9)|%HE HIEQR) 4.42 (+0.8)
A - el BHAY - ZEh K5y - BAEF £ - Bah AIFF - BIATEE K5 - KEH BT - PELR Ry - IR/ T
69260 | FasL HE $HNQ) 11.11[#EB HFEQ) 9.61|FH EM(2) 9.56(F £ HBE®) 9.33|RFHE MEEQ) 9.07[1iLE EZE(3) 8.92|£H ®Q) 8.15|5H HEEQ3) 8.05
£l - BEF K5« K¥EH K5 - KIEF %1l - HEH BUAF - deEBrh BUBHE - F4E HE - LEP K5 - PEH
625 6/26 | PR HE LEQ) 1985(lLE F&0) 876
A - el %18 - EfErEE
625H | 100mH 16.64 (-1.3) 23.74 (-1.3)
6H26H | AEmBk 1.25 1.16
6426 A | ftLfk 9.14 6.54
6H26H| 200m w 29.53 (+2.2) w 34.23 (+2.2)
k| 6r268| 100m 2E EP(1) wilsll 27|85 EETEQ) widdl E27)|[AE ZEZZ(1) w34 +2.7)|EE k(1) wisss 2.0)|%E WF (1) wi3s9 27| BE(1) widel 20| XIE(1) w17l @2.)|F% EBH1) wi39e7 (+2.7)
AKF - BAR K - Bk BT - RIAFEE Bt - = rE - TEEZEH BIAT - BURFEE 1&1a - fE1arEH RE - B
828! soom M bids(1) 2:271.84|%H B 2:29.82| 8 Z£Z(1) 2:3191|1&HE #Hm=1) 2:32.15|@% =&F(1) 2:36.15|= % TE(1) 2:37.74;m8 ZEEQ) 2:38.11|1% 8 W) 2:38.11
LAY - ZEF TH - BA® K5y - BAEF K5 - BRFR LHEE - SET K5 - PWEF K> - BA%F BT - Fil
INEF BAE(2) wil3.07 (+25)|FRE B AH(2) wl3l9 (+25)|[{EEE  E(2) wi13.28 (+2.5)[48 +tiE(2) wi13.30 (+2.5) BEAR SRIE(2) wil334 (+25)|8K  EHEH(2) wissr (+2.5)|BkME EME(2) wl3.56 (+2.5)
1A - Bad Ry - EFH BIAF - Bk HiE - FriEs T - AfEH K5 - Ko 1A - BBt
24| 6H26H| 100m = o
fEp #E(2) wi3.30 (+2.5)
K5« K¥EH
s 7| 6a260| 100m B HRQ) 1226 +16)|[JBR REQ) 1249 GLE)[NI HAQ) 1287 (+16)[/INE KE(3) 1287 (+16)[fEk HE(3) 1313 (+1.6)|EA HFEG) 1323 (+1.6)|HZ HLEG) 1332 (+1.6)|HR THEG) 16.77 (+1.6)
K7« KREF ZEN| X% - R/ T ZEN|X% - fEHRE k1A - R HiE - s K - BEF RRT - BBRAEF BT - BAE A

GR:REFEk ZEN: 2 IEHEZLEL w (wind assist) : JBAZH




